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Model Test One

Part 1 Listening Comprehension (20 minutes)

Section A
Directions,  In this section. vou will hear 10 short conversations,
At the end of each comversation. a guestion twill be
asked about what was said. The conversation and the
question will be spoken only unce. After each question
there will be a pawse. During the pause, you must
read the four choices marked A). B). CY and D),
and decide which is the best answer. Then mark the
g corvesponding letter on the Anstwer Sheet with a

single line through the center.

Example; You will hear:
You will read ; A)At the of fice,
BYIn the waiting room.
CYA? the airport.

DN In a restatrant.

From the conversation we knmo that the two were
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talking about some work they have to finish in the
evening. This is most likely to have taken place at the
office. Therefore, A)"At the office” is the best an-
swer. You should choose answer TA) on the Answer
Sheet and mark it with a single line through the cen-

ter.

Sample Anvwwer (ZE)(BICIED]

. A)To make up a story.

B)To write a composition,

C)To prepare some medicine,

D)To describe a picture,

A)Therell be heavy rain in places.
B)There®! be heavy rain by midnight.
C)Therell be an easterly wind.

D) There'll be fog in ail areas.

. A)She’s broken it.

B)She’s lent it to someone.
C)She’s forgotten where she put it.
D)She’s returned it.

. A)She was angry. B)She.was surprised.

C)She was curious. D)She was pleased.

- A)He’s got a large family to support.

~ B)He’s getting a divorce.

C)He doesn't want to part with his friends.

D3He doesn’t want to be near his family.

- A) Younger generations are relatively more adaptable than

2
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older generations.
B)Planes are not something new and strange to people of her
age. ’
C)She is lucky to be born in a time of planes.
D)She is fond of traveling by air.
7. A)Go home. B)Work in a factory.
C)Go abroad on a vacation. D)Work with teenagers.
8. A)Not until last year, B)Not until last Saturday.
C)A couple of days ago. DA couple of years ago.
9. A)It doesn’t matter which color the man may choose.
B)It’s the man’s own business.
Ch1t'’s a difficult for the woman to make, too.
D3She doesn’t like either color,
10. A)They are too shy to apologize.
B)They are rather smooth.
C)They are badly behaved and inconsiderate.

D)They are aggressive and ambitious,

Section B

Directions . fn this section, you will hear 3 short Passages. At the
end of each passage, vou will hear some questions.
Both the pussage und the questions will e spoken oniy
once. After you hear a question, yoie must choose the
best answer fromt the four choices marked A). BY. (7)
and ). Then mark the correspanding letter on the An-

swer Sheet with a single line through the center.



Pas;age 1

Questions 11 to 13 are based on the passage you have just

heard.

11. A)Pea plants. B)Animals.
C)People. D)Flies.

12. A)Factors. B)Fat persons. '
C)Characteristivs, D)Matters. -

13. A)Every person is a unique combination of genes.:

B)Some eat less, some sat more.
C)Nutriticus food makes pecple fat.
D)Different countries have different custonis.

1
o

Passage 2

Questions 14 to 17 are based-on' the pasf&gé you Rdve’ just

heard. - : :

14. A)At the subway entrance. B)In the booth,

C)In the slot in the turnstile.D)On the car.
15. A)Running. B)Smoking.
C)Standing beyond the white line.
D)Chatting on the car.
16. A)Read the advertising signs in the cars.
B)Ask the cashier.
CllInquire the station master, -
D)Look at the map on the wall.
17. A)Some passengers.
B)The advertising signs in the cars,
4



C)The porter.

D)The newspapers and magazines in the cars.

Passage 3

Questions 18 to 20 are based on the passage wou have just
heard.
18. AEuropeans smaoked tobacco over a fire.
B)American Indians used tobacco as medicine.
C)Evervone in Europe smoked tobacco.
D)Europeans began to learn about tobaceo,
18. A)YThe tobacco plant-is very unhealthy.
B)Tobacco can be smoked through a tube.
C)Nicot gave sick men tobacco to eat.
D)Cdlumbus learned about tobaceo from Nicot.
20. A yBecause he thought 1t could ease pain.
B)Because tobacco was popular, s
C)Because tobacco contained nicotine.

D)Because he had a bad pain in his leg.

Section C
Spot Dictation

Directions  fn this section. vou wilf hear a shot puassage. I will
be spoken three times. The [irst time. it will be spoken
at a normal speed. The second time, there is a pause
after each black for vou to Fill our what is emitted.

The third time. it will be spoken at a normal speed
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again. .

Money is considered by some people as the most important
thing in life. They think that (&€])) in our daily life has to be
bought with meoney and that (@), they can make themselves
very comfortable by having a fine honse to live in, (&), deli-
cious food to eat, etc.

But money cannot buy everything. (@9). Mo -maiter what
we do, or how much money we are willing to pay, we cannot
make the day last longer than 24 hours. () who possesses ev-
erything except good health, By the time he is suffering from a
fatal illness, (&) is longer life. Though money can help him get
(@) doctors and medieal care, money can never buy him a
longer life.

Money, (@), is the source of some-evil. Some .people are
(@) money, break the law and do all kinds of-evil things.

Therefore, (§8). Since money tan never buy everything we de-
sire, it is not at all powerful.

4
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Part 1 Reading Comprehension (35 minutes)

Directions; There are 4 passages in this part. Each passage iz fol-
lowed by some questions or unfinished statements, For
each of then there are four choices mqr‘ked A), B},
C) and D). You should decide on the best choice and
mark the corresponding letter on the Answer Sheet with

a single line through the center.

Today’s trumpet is one of the world’s oldest instruments. It
is the result of many centuries of development. Although it lacks
nothing like its ancestors, there are many similarities, All trum-
pets are hollow tubes. They are all blown. And they all use the
player’s lips to produce the basic sound.

The trumpet developed as players and makers worked to im-
prove its design, size. shape, material . and method of construe-
tion. They wanted to create an instrument that would produce a
beautiful and attractive tone, enable the performer to play all the
notes of the scale, extend the range higher and lower. make it
possible to play more difficult music, and. in general. be easier
1o play well, The remarkable way in which the modern trumpet
achieves these goals is a measure of the success of all those who
struggled (o perfect this glorious instrument.

The trumpet is actually the leading member of an entire
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family of related instruments. There are trumpets of several dif-
ferent sizes, and in several different keys. There are cornets,
bugles, flugelhorns, and a number of others that are all similar
to the trumpet in the way they are made and played.

The trumpet family is much more than a group of related in-
struments that can stir one with their sound, or narrow tubes of
metal capable of producing a variety of musical sounds. It is a
link to many different periods of history and to people of many
cultures. From -the use of trumpets in ancient religious cere-
tnonies 8o the part they play in modern rock bands;: thé trumpet
family of instruments hes much to tell about civilization and its
development,

81.What is the best title for the passage?
~.'A)Beience and the Trumpet -
.. B)Récordings-of the Trumpet
C)The Trumpet and its Ancestry - ' o
D)How the Trampet is Made - -
32. It can be inferred from the passage that which of the foliow-
ing is needed to:make.the trumpet work?
A)Air presaure ' - B)Keen eyesight
C)Daily cleaning D)Long fingers
33. Which of the foliowing can be inferred about the first trumpet
players?
A)They could not play all the notes of the scale.
B)They were not able 1o pick up the trumpet.
C)They could nat play simple tunes.
8
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D)They had difficulty improving upon the trumpet.‘
34.In line 17, the word “one” could best be replaced by
Athe listener Bra family
C)the composer D»an instrument
35. The author belteves that the trumpert is particularly important
because it
Adcan be used in rock bands. B)has historical significance

Clis a religious instrument Djhas a narrow range

Washington Irving was America’s first man of letters to be
known internationally. His works were received enthusiastically
both in Engtand and in the United States. He was. in fact. one
of the most successful writers of his time in either country, de-
lighting large general public and at the same time winning the
admiration of fellow writers like Scowr in Britain and Poe and
Hawthorne in the United States. The respect in which he was
held was partly owing to the man himself, with his warm friend-
liness, his good sense, his urbanity. his gay spirits. his artistic
integrity . his love of both the Old World and the New. Thacker-
ay described Irving as “a gentleman. wha. though himself barn
in no very high sphere. was most finished . polished. witty; so-
cially the equal of the most refined Europeans. ” In England he
was granted an honorary degree from Oxford-—an wnusual honor
for a citizen of a young. uncultured nation—and he received the
medal of the Royal Society of Literature ; America made him am-
bassador to Spain.

Irving’s background provides little to explain his literary
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achievments, A gifted but delicate child, he had little schooling.
He studied law, but without zeal . and never did practice serious-
ly. He was immune to his strict Preshyterian hame environment,

frequenting both gatherings and the theater.

36. What is implied by the comment about Scott, Poe, and
Hawthorne
A)Irving enjoyed great popular admiration.
B)Scott, Poe, and Hawthorne were primarily responsible for
Irving’s success.
C)lving’s work was not only popular, but also of high liter-
ary quality,
D)More Americans than Britons admired Ireing.
37. Thackeray considered Irving
A)dthe most refined European of his time
B)one of the most refined Europeans
Crefined, like most Europeans
D)not intarier-to Europeans of the highest refinement
38 Why did Thackeray think that Irving’s social grace was un-
usuai?
Alrving’s parents were not aristocratic.
B)Irving exhibited warm friendliness,
O)lrving had gay spirits.
D) rving’s degree was honorary, rather than earned.
39. Which of the following best describes the effect of Irving’s
personal qualities on his literary success?

AJHis personal qualities were enitirely responsible for his lit-
10
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